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2 a. Exgllur stpn($Tzag - star and open db#donnection with the help of connection diagram

Note: l. Answer any FIVE full questions, each module.
2. Assume Missing data any

full load at 0.8p.f and the iron loss

and phap$ffi,lram. Mention its advan[agds applications. (10 Marks)

induced for g flux per pole of 0.943 wb, sinusoidally distributed in space. All the turns per
(06 Marks)on"tffiseries' 

tor2

a. What is the need 6or parattet op.ratioi former? tvten**fuire conditions to be satisfied
for parallel opef&ifu and explain. * ***fl ffi& (08 Marks)

b. An autotrans&&qler is used to supgffiryiesistive load of.SkV at 400V. Supply voltage is
440V. Neglectinf the losses calcuht$the currents in*various parts of the winding. Find the
percentage oTcopper saving effied due to use o,{@utotransformer instead of equivalent
fwo wurding transformer. &, " - *ry'' (08 Marks)

'*"' #e oR #*%" *ffi%:' oR- s
a. dvitill a neat diagram,ffip-lhin the constr"W*hn and operation of on load tap changer for
,w&iansformer. *- @ 

w #$-*5 (08 Marks)

Wwo transformeUqffie the followingr 1& r..rlts: with the LV side shorted, transformer A-#takes 
current oftdffi at ZO}V, porir,€.f ifl'put is 1000W. Similarly transformer B takes 30A at

200V; the gqg&-input is 150-0.W:ffpn open circuit both transformers gaye a secondary
voltage okP&0bV when I lKv,mffipHed to the primary terminals. These terminals of the
two transffiers are connecte$ irfparallel. Calculate the load shared by each transformer.

G,m (08 Marks)

#%-F Modute-3
a. Explain the current r*prush pherro*eiiiEG-sformer. $4Marks)
b. With neat diagrqrire"eiplain the commutation process in DC machines. (06 Marks)
c. A 4- pole, 3 -ffiry; S}Hzstar connected alternator has 60 slots, with 4 conductors per slot.

The coils arffifibh pitched by 3 slots. If the phase spread is 60o, find the line voltage

b. The p ters of 10KVA, 500/2fi$[M 50H2, single - phgpe transformer ars as follows :

Primary resistance = O.2()dffiary reactance .ffi O.+O
Secondaryresistance = 0.St$ffiSecondaryreacq#pffiL 0.lO dSecondaryreststance = 0.Sff*dSecondaryreactffi."Y= 0.lO d

Exciting circuit resistance4ndreactance are l5ffiJffi zsOo ..rpp@ty. Find out results
of O.C and S.C test. F5m ru* {_r- (06 Marks)

W. uoauitilS# . s. 
*

I a. With the help ofphasor diagrar;r,rbxB
"&. -€

b. A 3-phase 1000KVA, OOA@p0v
connected on secondary* Tfue ffiimarconne cted o n secondary*Jfue {pnrnary re s istance/plr".f4.*' l .

0.0250. Find the rmgffiW when secondary is sqpirli#ng
is l5kN. Also determh#bfficiency on tull load uffip.f.
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6 a. With a neat diagraru explain to* .rrip^resisffi$-iflused to find effrcie"t' "",1#ll'r;
regulation of a transformer? ffi

b. A 4 -pole, lap wound armature running 3t $ffim delivers a curreQ(of l00A and has 64

conductor G;;;:it. u*rf*iatn ii Sffifi" 1'4 commutatorgqprts and *ul:.11T'

of each armature coil is 0.05mH. Caffifhffithe value of the re&Uryt$e voltage assummg

ffi;ffi*m b"t""" &#$'

7 a. Explain the effect oruuriutiffi.rr un alternat9r fiipplying constant 
'ouu,',, Marks)

ulu * 
mreactance of O.gpu and a quadrature

b. A synchronort g.nttpffi a direct a:ris sVnclrgg;

axis synchr;;;, ;"ffiri oroipu.-rt is supprvftffi,*"tt load at rated voltage at 0'8 p'g lag'

d$e&q* BS

ituS t

(4rD eJuvu ----*'!w- -- 
,r# (0gMarks)

Find the open cir@$ottage- ** @

r"enw %d dfu%ffi dr*b
g a. Explain ffiOion theory as applied Sfficnronous 

machines' (08 Marks)

b. r*o ioem,Wi#l; il# ;#;-q;S'ialternators' ogratins i p,T'l'-l :T:: :TilY:

ffib\
p $nchronous

1000kW at 6600V,afWS power factor ffiC The field of the first generator
ffi toootwat 6600v,ffis Power factor

so thatthe armature &ffirit is 50A tagginqev -r${i. %- d"

1) Armature cyrrent of sesonh machine _ffiff6 @ (08 Marks)
i'1 rn. power factokqkqpch machine d%W h@$

rkv .asds'\affidfu%u A**.1 d' r rvr.,ar$?-S*' -.

g a. Explain MMF me$o$of d.t.t^ittinf@.egulation o$@ernator' (08 Marks)

race#-,. ,nn\/ i^---.*,S#fl-"ro..Lrl altenffiSsuoolies the rated load at 0.8a. Explain MMF me$o$of determining vdlt@ regulation oi^ffie11or'. (uu Nrarrs'

b. A 3 -phase, 1.0re*n,400V, SOffz"pg'f odlm..La ate lsupplies the rated load at 0'8

q"ry.:;;*, q*6h;. irtr,. **.ffisistance is osodanE svnchronous reactance is 10f)'

ffiA;il*#g;;iation 
*ffi* M 

(oEMarks)

dwffiffi*'*5" *rc**. oR ""*ouk)' *"ry .Y^ *o_
10 a- witd,siiitauteg'r.1ffiii'":f"::1?.M"HT"3'ffi1i:1i,,. u.,,u,,..,.,10,1#JIT,,'r- a n{nntl rb. A 2300V, 50H2,3 _ $ryp star connectecqlffinator nas au (ilfgvflvg 4rrrlq

"'.*@'4gj. ;nio^.r*.mg;T"gi;-duces as@,ert of 150A on short circuit and an open circuit
-@ehir80viil;ffitil;,;t. ;ti.;;lt"g.d;Strtion at 0.8 p.s, lagging and 0'8 leading for the

'' tull load currenik-iffisa q * - (08 Marks):urrent$ffi35A. 
_,@

M\- W.* {.,r.,r. 
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